
Possible Solutions 

Write a problem situation for the following equation. 

42 + x = 160 

 In order to come up with a scenario, students must think about what the 

equation is saying. 

 Below are a few scenarios or problem situations that might work with the 

given equation. 

 Beto was asked to collect $160 for a school fundraiser. So far, Beto has 

raised $42. How much more money does Beto need to raise? 

 A local church is hosting a charity run. They can only have 160 people 

enter the race. So far, 42 people have signed up. How many more 

people can sign up for the church run? 


